B 15

S0 SAESE

Js J2 o TR 1 5 A L AR e e A P S S

E S L BIMIN il LS R LIp

o5 EANY

R & it B B
% E A MEME | R E = 2 R PR R
H : SF44FE4H 1 HD
we 2
REAW % . AFSHESH A ET
E % 22
¥ % M 3=
REFIL. V%mﬁjﬁﬁﬂ/\’ﬁi#”@fiﬁ"éf%ﬁ@ %ff?@@%KﬁUD%ﬂ“E
B BRAEONNEERELEDEBAXITY Z 212X Y% ﬁfﬁ?ﬁi AN
L. #WIER KO KEEZHET LI ZEE2ERET S

1 REHEH S E T =X
2 AR =X
3 BEAEEIEM Hh
4 RenS—=F 7 =xvia
o

R S a3 FR

30 \F
(N ]
50 N1
136 A1
(N




REtEEE x%4%

i M hEEEEI BRI ST EERS
T &% Bl |k Tok | Bl B | Efm 2 BE
1. EEEBE
LEEHSEBER % | 1 E1ERRE
EARBLSH % | E2ENRE
ARSI % | 1 E3SNRE
BRS—FY % | 1 EAENRE
BRNSH % | 1 E5SNRE
2. BB % | 1
INEt 1+2
3. LIS % | 1 FRXHIYRT
4. HEME SHET10%
a5t 3+4
5. EERAEY = | 1 185,200 |56 5 NERE
HEest 3+4+5




RIRE (LESFE1SRFEBHFEERR)

1/2
TiE-&H Rl | foR-~T0K | B B E Hi{f =& S
E15HNIRE
RF AR &t 30A%E [ [B | 16 KR EEREET
FRE VSRS m | 42 10.5 m/[@
&t
E25NIRE
RF AR a6t TAE | | 12 ER.HERESD
=k il A Wieh e 3 m | 12 3.0 m/[]
&t
EI5HNIRE
RE AR Byh| 50AfE | [@ | 16 ER.HERESD
AR VSRS m | 28 7.0 m/[H]
it
EASHNIRE
BT R a0 136 A% [ B | 16 EREERSEET
=k il A ieh e m | 168 42.0 m/[a]
it
E55NIRE
RF R B TAE | | 12 ER.EEREET
ARE VGRS m| 6 1.5 m/[a]
&t




REIRE (LESR1SHFFEHIFEERER) 2/2
TiE-&# R SRS HE Ed ] e
FEO6ENRE
F115 (EER)
EERE &6F| 30AFE [ 46,400 [HAKS1o1BE
SHSFEEXER 115 (FEERD)
EERE a8 TAFE @] 7,000 [HARSAUBRE
LERUSNDEERER 115 (FESERD
EERE a8 TAFE [ 15,000 |ZhEILIRE
F115 (EER)
EERE BYyh| 50AF% [ 38,400 [HAKS1o12E
F115 (EER)
EERE &6t 136 A% | @ 58,400 [HAKSA12E
SHSEENR 115 (FEER)
EERE Bl TA#E @] 5,000 |[HARSAUBRE
ERUSNOEERR 115 (FEER)
EERE Byl TA#E [] 15,000 |ZhZEILIRE
it 185,200




